EARAZROREIERT — 2 N—XBISY —F 20185F2H9H (£) 19@E%HA5H

mﬂﬁ%B 11-C3# 5% (xwlw | lmEmml - |5 5) wom 8
[AE£] 1% :190,000 " ~ 23%&:44,000”  33%&:19,000 M  437&:14,000 M .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N B AFA—SETLH 4 8 Eﬁl{%&i 1:(3_0).7 9-8-5-3 [36.9| — 3 520 géfgﬁ (BHE)
LiRTARYIN BT U5 R DR v
= B 4 5 | EHEE 1:31.1 2-2-2-1 [38.3| — 1 442 | FRILERE (1)
2 H g| VX=>F 17— 56.0 @ ) LhaxT
L:Tv TRy b By w=CT7UIN SRS
— e 6 RIAR 231, -4-3- . - DNk (S54R)
N . BEE:ENTE: it xi 1(331)7 4-4-3-4 | 38.7 5 (4_929) ) A
LY IRG4 75 B:TORN—N1F b ie]
S 5 . EEA . 58— - JI5RBA3L (£3R)
alsls | EX PV 2T 6 L 1(/731[:? 5-5-8-8 | 38.2 6 ff) e
LRz T hA—Tr—K— K BHrIHTT FHE%S
5 L EASZAVAN # 6 gﬁ;%%u 1:(312).0 6-6-5-6 |38.6| — | 4 <4+357) gg{gﬁﬂ (3212)
R:F4—=TA4>N7 b B:Ly RTq—F2Z K B
S A it 5 | HRBAEZ 1:32.3 7-7-5-6 | 38.9| — 7 406 | DNEE==AR (56H4)
67 7| AY T MY=AF 55.0 (1 '1/2) Ci) |EEEE
LT RIA Y L—> B:Rv—bE—2 4> =e)
N S BERESE : —1-1- — HEET (5HR)
71111 A% o4 57_0+ 1('13/22')4 B R 2 f:) =B B
LY LFAN— b BXA—F T7T2R EARE %3]
= 59 4 6 | KBES 1:33.1 8-9-9-9 [39.3| — 9 406 | UER (S54R)
glglg|T—AT 1> 54.0 ®) 2 | @ s
LA R=3>TR—L B:IATYLIHIR H—L— - JvX> - T7—LARS
R = 1EmER Al :33. —-3-4- . — R G (£R)
9 W THEFTS it 6 fer 1(733t)2 2-3-4-5 | 40.0 8 (4_674) it
R:TZvoKR—0 B:R—/)X3I> FE K
® I—F—@EBIERL
|S=7r= 1,(4,9),6,5,2,7,8,3
Ao=5"= 1,9,4,6,5,2,7,3,8
3T—7— 1,9,6,4,(2,3,7).,5,8
43—+ — (1,9),3,6,4,(2,7),5,8
[ N5
B 3 460/ 794K 3-9 230 & 3-8 580 &R 3-6-9 1,400
# B 3 170 3-6 680 B E 3-9 570M EE 3-9-6 7,260
9 120 6-9 400M B H 3-9 1,070
6 240M

ABICOVWTRDTEEERROODE. TR LIV,



